Simplify Expressions & Solve Equations
(7 questions on STAAR)

Solve linear equatons in one variable, including those for which the pplication
w’n‘! ‘of the distributive property is necessary and for which variables are included
R [ both sides __

L [ can...

- Distribute and combine like terms to simplify equations
Get variables on one side of equal sig
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- One solution, no solution, infinitely many so utions
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For what value of q is the equation —13(q + 4) = 7q + 16 is true? Bubble in your
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Laws of Exponents [A11B ’

Simplify numeric and algebraic expressions using the laws of exponents,
including integral and rational exponents

[ can...

- Use product rule, quotient rule, power to a power rule and the negative
exponent rule to simpli

Notes:

Produx of powers FE =gt
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Negative exponsnt an =?
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1'2\6 The area of a rectangle is 54x%?® square yards. If the length of the rectangle is 6x°y* yards,
whuch ExXpression represents the width of the rectangle in yards?
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12 A rectangular prism has a width of x inches, a length of xy inches, and a height of
y" inches. Which expression represents the volume in cubic inches of this rectangular prism?
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Record your arswer and fill m the bubtles on your answer document.
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A rectangie has 2 lgngth of xy® inches and a width of xy” inches. Which expression
€ ratio ¢f the length of the rectangle to the width of the rectangle?
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Solve Linear Inequalities [ASB) —I
Solve linear inequalities in one variable, including those for which the

application of the distributive property is necessary and for which variables
are included on both sides

I can...
- Simplify by using the distribution property, combine like terms, and bring
all variables to one side

Notes: Z > £ >
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**Just like solving an equation, BUT when you divide by a negative number you FLIP
the inequality symbol. /FTLJL’/(—.:\A =

What is the solution set for 8(3x — 2) ﬁ 2(7x 4+ 12)?
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: Add and Subtract Polynomials [A10A)
Add and subtract polynomials of degree one and degree  two

I can...
- Simplify expressions by adding like terms i
- Simm expressions by subtracting'l_i.ke terms

Notes:

Adding Polynomials
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A teacher’s age is 6 years greater than 2 times a student’s age. A principal's age is 10 years
greater than 3 times the student’s age. (p+2.X {0t 3X

If x represents the student’s age in years, which expression represents how many years older
the principal is than the ?
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Mn]biﬂv IP-ol'.vn omials {MKDB)

omials of degree one and degree two

| can...
- Multiply binomials (FOIL)
- Use distribution property and combine like terms to multiply terms

Notes:
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A homeowner Is building a flower bed in the backyard. He plans to put a layer of fertilizer over
the entire flower bed. The diagram shows the flower bed and its dimensions in feet.
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36 Which expression is equivalent to (A2 -+ 9h — 1{-4h & 3)?
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Divide Polynomials {A10C

Determine the quotient of a polynomial of degree one and polynomial of degree
two when divided by a polynomial of degree one and polynomial of degree two
when the degree of the divisor does not exceed the degree of the divided
[ can...

- Multiply binomials

- Use distribution property and combine like terms to multiply terms
Notes:

**1f something is in the numerator and the denominator then they cancel out!
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What is the quotient of (6x? - 7x— 5) -= (2x+ 1) for all values of x where the expression is
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I Rewrite Polynomials {A10D)
Rewrite polynomial expressions of degree one and degree two in equivalent

forms using the distribution property

[ can...

- Combine like terms

- Use the distribution property to remove parenthesis
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2 Which expression is equivalent to —28x2 + 35x?
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In which step below does a mistake first appear in simplifying the expression
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HMMMB Roots {Mlﬁjﬂ

| Simplify numerical radical expressions involving square roots
Notes: s
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